20194F “RIEWA" BIFZ (25)

1R F1E 201912 H29H
1 iFERBRZI T RA VS 3 HREERA
H= A=
REHTIA ey ey R TIA
it : WiR5E : Rrpfe it . EE% % &NE
e, B & S 7 - H
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 2S +1 140 1t 2S +2 170 1
2 it x 3D +2 -150 x 3NT -1 50 5
3 panyiie] x 3S = -140 1t 3NT = 400 11
4 WE=] [ri] 2S +1 -140 ® 2C -1 100 6
5 it [ri] 4S +2 -480 75 4S +1 -450 1
6 ,?ﬁ x 2H +1 -140 x 2H +2 -170 1
7 PE=] [£3] 2H = 110 [£7] 4S -3 -300 9
8 TS [£3] 4D -1 -50 [ri] 3S -1 50 3
DATUMSit T
iFEARR2L T RA HRIfERA Y. X+ 10 | 27
MIRSE/FTBEE  -19 FER/MNES -4 ait 10 27
= NELANRA 4 Srhfe/FEen 19 V.P. 425 | 15.75




20194F “RIEWA" BIFZE (25)

%1 2R 2019412 A29H
2 $EFRA VS 4 ZIEPA
H= A=
RERTIN I I RERTIN
Tt U T e % - B
g EEE 7 D& B TS 7 BER
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 2NT -2 -100 x 2Cx = -180 2
> |&gdtl = | 4s | = | a20| 5 | 4s | = | -420
3 ,?ﬁ [£3] 3NT +4 520 [£3] 3NT +3 490 1
4 E=] x INT = -90 ® 2H -1 100 5
5 it 1t 2D +3 150 1t 3NT -1 -100 6
6 ,?ﬁ x INT +2 -150 x 2H -1 100 6
7 E=] x 5Sx = -850 [ri] 5Sx -1 200 14
8 TS 1t 5C +1 420 1t 6CXx = 1090 12
DATUMSit s
FEFARA iR PA Y. X+ 9 37
XUPZ/ F 25 -10 EFE/TRE 20 ait 9 37
BERWABSER  -20 Fig/ S 10 V.P. 1.96 | 18.04




20194F “RIEWA" BIFZ (25)

%15 ¥ 3R 2019412 29H
3 HRAERA VS 5 JEIPA
H= A=
ey Rk Rk ey
it : TE% R : AfRIR it : BTN R . Repte
o B 7 - R & 7 - &
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 3NT +2 -460 [ri] 3NT +1 -430 1
2 it [£3] 2S +1 140 [ri] 2H +1 -140 4
3 panyiic] x 2NT = -120 [ri] 2H -2 200 8
4 E=] [£3] 3H -1 -100 [£3] 3NT -1 -100
5 it 1t 3C = 110 1t 2Sx -3 -800 14
6 panyiie] [ri] 3S +2 -200 [£3] 2C = 90 7
7 E=] [ri] 4Sx = -790 x 4S = -620 5
8 TS x 3NT +2 -460 x 3NT +2 -460
DATUMSit T
FRAEpA RRPA Y, &+ o1 | 21
FEFR/RIZSE  -38 =R/ AR INE -45 ait 21 21
Srhts/ZEE T 45 [ERIR/ AR 38 V.P. 10 10




20194F “RIEWA" BIFZ (25)

%15 4R 2019412 29H
4 ZIEPA VS 1 REABR2E T PA
= A=
I T ran A N
e 7 - It iR = T
B T A &N B : FRERHE 7 . BEk
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x INT -3 150 x INT -3 150
2 it [ri] 4S +1 -450 x 4S = -420 1
3 ,?ﬁ [£3] 4S = 420 1t 4S = 420
4 PWE=] 1t 3C +1 130 5| 4H = 620 10
5 it 1t 5H = 650 75 5Sx -3 500 4
6 ,?ﬁ 1t 2D = 90 x 4H = -620 12
7 PWE=] [ri] 3C -1 100 [rit] 2C +2 -130 6
8 TS [ri] INT -3 150 x INT +1 -120 7
DATUMSit T
iR PA iREAPREITRA Y. X+ 29 11
EFE/TEE 25 MHREE/ TR 7 ait 29 11
T/ D& -7 RN BN -25 V.P. 16 4




20194F “RIEWA" BIFZ (25)

%1 5 R 2019412 729H
5 1ERIPA VS 2 $EF0RA
H= A=
R RERTIN RERTIN R
Tt B 7% - B 16 U % A
o 7 EER S T i
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 3NT = 400 1t 3NT +2 460 2
2 it x 3Cxx -1 200 [ri] 3Cx -2 300 3
3 panyiie] [£3] 2S +1 140 1t 3S +2 200 2
4 E=] 1t 4S = 620 5| 3NT +1 630
5 it x 3S = -140 ® 2S +1 -140
6 panyiie] x 4S -1 100 7 3NT = -600 12
7 E=] [£3] 3NT -3 -300 [£7] 4S = 620 14
8 TS 1t 3NT -1 -50 1t 4S +1 450 11
DATUMSit T
TEiPA EFAPA Y. X+ 12 | 32
B/ rME 21 XURZ /2 37 &it 12 32
[ERIR/ AR -37 ERWABHER 21 V.P. 3.54 | 16.46




